
Time: 3 hours
:Answer anY fivg'qEgStions

n ri.irriestions carrj''erinhl marks

Illustrate your answers with NEAT sketches wherever necessary

Design ai.fiogrg - bar lin-l{Agq".p generate 1"flrq' "function.
r",#"n tt =''0 and xy =t'i:"(corresponding"tb Jo = 1

Chebychev sPacing.

2.a)

i.'b)..:i

of friction

what is a free body diagram? Draw and explain the free body diagrams of all the

members of a four bar mechanism'

An in - iire.Slioer'-;;4e:Ffiry'* *iii';ru mm crank'ieiibm ana codiae4jii'g rod

length of'70 iirm operate, u,'u'"r*f.^*r".fu t f-20 rpm. f'frLia'is a constani 40'N force

on the slider (towards the crankstraft;. flot tle ci,necting rod position' position of

slider, connecting rod force, and crankshaft torque against the crank position' when

the crank angle I :;o'.- ' [5+lo]

-^r
Vi ='"e^: -/:':' :.':
and Yl =

x for V*iluPSi of x
01.718ji"diihg ttre

ilsl

5.

rad/s

tlsl

with a sketch the

t lsl

Max. Marks: 75

3:.' i."i Ttr" masJqilut*uir" t*+rui,$ shiP is 8
: .. )'""

tdnncs'and tras a rirnli':'s pf gyration:of Qi6 *.
It rotates a1""1800 rpm clockwise, when looking from the stern. Deieffine the

a) Powerof the engine, 
^ r -rir:=s---

1.".,i'.:: uirn" *6il$gr, 7, nu.tii{troii of speed qf'Si:flv*heel' whgg'tfe
! ."' i"'; i) Resisting'tciiqu" is consiant,'and

il; Resisting torque is (5000 + 600 sin 0) N - m'
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